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Least Common Multiple

Objective – SWBAT find the LCM of any set of numbers

Do Now – Quick Questions
	1)  Find the prime factorization for 36.

A.  3 x 2        B.   32 x 22        C.   33 x 22        D.  9 x 22
	2)  What is the prime factorization for 84? (Remember to write your final answer using exponents and BOX it)


Notes

)  The least common multiple (LCM) is the ____________________________ two or more numbers have in ___________________________. 

2)  When looking for word problems that ask you to find the LCM, you should look for a problem with the following:

· The problem had an event that _________________________ over and over at a regular pace (for example, the light blinks every 10 seconds)

· The problem is asking you when two or more events will ​​​​​​​​​​​________________________ at the same time (for example, when is the next time she will have soccer practice and piano practice on the same day?)
· The problem asks for the first or smallest of something (for example, who is the first customer to receive a toy and a game?)
Let’s Try!

Identify LCM problems below

	#
	Problem
	LCM?

	1
	In the school kitchen during lunch, the timer for pizza buzzes every 14 minutes.  The timer for hamburger buns buzzes every 6 minutes.  The two timers just buzzed together.  In how many minutes will they buzz together again?


	Yes/No

	2
	A small car weighs about 2000 pounds.  If it’s 4 wheels carry the weight evenly, then each wheel carries about how many pounds?
	Yes/No

	3
	The cast of a play had a party at the drama teacher’s house.  There were 20 cans of soda and 40 cookies served as refreshments.  Each cast member had the same number of whole cookies and whole cans of soda.  Nothing was left over.  The drama teacher did not have anything to eat or drink.  What is the greatest number of cast members that could have been at the party?


	Yes/No

	4
	Two ships sail steadily between New York and London.  One ship takes 12 days to make a round trip; the other takes 15 days.  If they are both in New York today, in how many days will they both be in New York again?


	Yes/No


	You Try!

1)   Find the LCM of 12 and 5

      The LCM of 15 and 5 is ________________________

2)  Find the LCM of 4, 5, and 2

4

5

2

     The LCM of 4, 5, and 2 is _______________________

12

 5




 Solving LCM with a List

[image: image1.png]Way 1: Make a List

Step 1: List some multiples of 6 and 8. Circle
the common multiples.

6: 6,12, 18,24) 30, 36, 42,48)
8: 8, 16,24) 32, 40,38)56, 64

Step 2: Identify the least common
multiple (LCM).

The first multiple circled is 24.
The LCM is 24.




	You Try!

1)   Find the LCM of 12 and 16

       The LCM of 12 and 16 is ____________________

2)   Find the LCM of 15 and 18

      The LCM of 15 and 18 is ____________________




Solving LCM with Birthday Cakes
Way 2: Birthday Cake with Candles

Step 1: Make your Birthday Cake
2
|6
8
     
  3
 4

Step 2: Circle not only the numbers on the side but the candles on the bottom.

2
|6
8
     
  3
 4


Step 3: Multiply all of the numbers that were circled to find your LCM.
2 x 3 x 4 = 24



Let’s Try…Mixed Practice! 
Use either Make a List or Birthday Cake to find the LCM of each group of numbers
	1.   8 and 10


	2.    6 and 20

	3.     4 and 18
	4.     5 and 13 



	5.        6,   9, and 42 
	6.      15,  20 and 35 

	7.    Which of the following is the LCM of 25 and 75?

      A.   75             B.    25             C.    5           D.   3
	8.  How would you find the LCM of three prime numbers?

__________________________________________________

__________________________________________________

__________________________________________________

__________________________________________________

__________________________________________________

__________________________________________________


Homework – LCM 

List the multiples for each pair of numbers. Circle the first three common multiples

	1)     4 and 12

         4  _____________________________________

         12  ____________________________________
	2)     6 and 10

         6  ___________________________________________

         10  __________________________________________




Use a List or Birthday Cake to find the LCM of each group of numbers

	3)   15   and   27


	4)   14   and  10

	5)    3,    8 ,  and 12
	6)    4,   5, and  10




We are what we repeatedly do. 


Excellence, then, is not an act, but a habit


-Aristotle
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